a(3x —2y) + b(2y - 3x)

® a(x-2y) - 3b(x-2y) @ x(a+b)+yla+Db)
® a(2x - 3y) - b(3y — 2x) @ a(x—-y)+bly—x)

® 2x(a-2b) - 3y(2b—a)
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D x2-16x+64 @ 4x? —dx+ 1
@ x2+8xy+16y2

® @ 1
x4 x4 1
2)(2 — 4xy + 2y2
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o, V500 & a & AHg-5te] LhehE?

® 10a + 10 @ 10a + 20 ® 10a

® 10a-10 ® 10a - 20



© B 9 = ab & -2 o]t




6.

a=4,b=5-v2,c= V17
@ a<b<c @ b<a<c @ c<a<b
@ b<c<a




7. A n ol Hste] o o &4 FEE f(n) ol &, £(175) -
2f(28) = a7+ b °|t}. o] W, ab 2] Fr-& F-5HH?

@® -5 @ -3 ® -1 @1 ® 3



